
Read and understand the safety information in the auger manual before 
proceeding.

Read and understand the instructions in this manual before attempting to 
install this product.

Refer to the auger manual for operation instructions.

Before starting installation:

• Familiarize yourself with all the required hardware. 

• Arrange all parts for easy access.

PRE-INSTALLATION INSTRUCTIONS
1. Lower the auger to full down position, and disconnect the tractor from the 

auger (PTO shaft, hydraulic lines, and hitch).

2. Chock the auger wheels to prevent rolling.

3. Lower the swing hopper fully to the ground.

STANDARD HOPPER INSTALLATION
Note: The gearbox has been filled at the factory (half full) with EP90 gear oil. Before 

further assembly, check oil level to make certain the gearbox is half full as 
required. Add oil if necessary. Do not use grease.

1. Attach the transition to the top holes in the intake hopper with two 
5/8" x 1-1/2" bolts and 5/8" locknuts (see Figure 1). Do not over-tighten; 
tighten snug only as these bolts act as pivot points.

2. Clean dirt and paint from inside u-joint and flight shaft end, then insert 
Woodruff key (see Figure 2).

3. Raise and support hopper tube spout head on a stand.

4. Open the access door on the transition, then bring the tube and transition 
together guiding the flight shaft into the u-joint.

STANDARD HOPPER [A297]
FOR MKX100 SERIES AUGER MODELS

ASSEMBLY & MAINTENANCE
PART NUMBER: 30933 R2
REVISED: 23/8/18

Westfield | Wheatheart
part of the Ag Growth International group

P.O. Box 39, Rosenort, Manitoba, Canada  R0G 1W0   Ph: (866) 467-7207  Fax: (866) 768-4852
Website: www.grainaugers.com | www.wheatheart.com   Email: sales@grainaugers.com | sales@wheatheart.com

© Ag Growth International Inc. 2018



Figure 1 

TRANSITION

5/8" X 1-1/2" BOLTS 
[19590]

5/8" LOCKNUT [19600]

ACCESS DOOR
2



Figure 2 

5. Secure tube to pivot-connector on hopper with eight 7/16" x 1" bolts and 
7/16" locknuts.

6. Tighten set screws on u-joints, then close and secure the access door.

7. Attach the four solid wheels to the hopper bottom with a washer and cotter 
pin (see Figure 3).

SPOUT 
HEAD

7/16" X 1" BOLTS 
[19542]

WOODRUFF 
KEY [19224]

7/16" LOCKNUTS 
[19598]
3



Figure 3 

8. To connect the intake hopper to the auger boot, the spout head door must 
be first opened (see Figure 4). To do so, open the latch and rotate the 
spout door open, so that it lies down on the top of the swing tube.

9. Check that the u-joint spline and splined shaft on the lower gearbox are 
clean, then apply a light film of grease on the splined shaft.

10. Install a rim washer on the top shaft of the lower gearbox.

11. Shift the position of the hopper so that the spout head is supported above 
the boot, centered on the shaft of the gearbox.

12. Lower spout head onto the boot while guiding the splined universal joint 
onto the splined gearbox shaft. Once positioned, the spout head base 
should be resting flat on the boot surface.

13. Install spout head spacers, followed by spout-head retainers, using eight 
3/8" x 3/4" bolts (see Figure 4).

14. Lubricate the universal joint and then close and secure the spout head 
service cover.

Important: Always keep the spout head service cover closed and secured during 
operation.

HOPPER 
WHEEL

RIM WASHER 
[18948]

COTTER PIN 
[18155]

DOOR PIN 
[29323]

SNAP PIN [19463]
4



Figure 4 
 
 

MAINTENANCE OF STANDARD HOPPER
Before performing maintenance, shut off tractor and remove the key. 
Disconnect PTO driveline from tractor.

Frequent:

Open the access door - then grease the four bushings and two u-joints. Close 
the access door, then slide in the door pin and secure with snap pin (see 
Figure 3).

Occasional:

1. Check and adjust the hopper drive chain.

2. Lubricate the hopper drive chain.

Note: For all other instructions, see Operator’s Manual.

RIM WASHER 
[17370]

SPOUT 
HEAD 
DOOR

LATCH AND 
CATCH 
[20052]

SPOUT HEAD

3/8" X 3/4" BOLTS [19540]
SPOUT HEAD RETAINER [29166]

SPOUT HEAD SPACER [29152]
5


	Pre-Installation Instructions
	Standard Hopper Installation
	Maintenance of standard Hopper

